SERIES 90 OPEN BENCH
WITH BOTTOM SHELF
ASSEMBLY INSTRUCTIONS

NOTE

To assembly bench, follow instruction for
open bench, then complete steps A—C.

—_

M10x35 x 6 off

© EB==
Ol

© E
0 &=

&

M10 Washer x 6 off O

N

W

M10x10 Spacer x 6 off @

N

M6x20 x 6 off ‘

I
|
©) slide in 18mm shelf !
to finish bench. |

I

|

For item 1 a M10 Allen Key is required.

Left leg Shelf

/Support brackets

Fix support brackets
to legs using
item 4.

| N

> ;
. | < 2
! i 1\ \\ J/ al'
| N
!
i
|

Ref: MRE 5940A198

@Fix support rods before
adding second bottom rail.




